Answers to 4th Six Weeks Test
1) No

2) Yes, the second difference is a constant 4

3) Vertex: (0,0) Domain: All Real Numbers Range:  y≥0 Min

4) Zero’s 1,3  aos: x=2  number of solutions: 2

5) Aos: x=-2  Vertex(-2,-4)  5a) The graph would be wider and move down 6 units

6) Max ht: 16 ft   Time of max ht: 1 sec   Time in the air: 2 sec

7) (2,1)

8) (2,6)

9) (3,2)

10) (5,-1)

11) Yes

12) Youth ticket cost $22

13) 15 neon fish and 5 angel fish

14) 3 months will cost $136

15) Dash falling line and Shades up

16) Dash falling line and Shades down

17) Solid falling line and Shades up

18) No 

19) yes

